
 5.25 

 2.50 

PANEL MOUNTING DIMENSIONS
VIEW A

HARDWARE KIT
ITEM #4

HARDWARE KIT
ITEM #1 OR #2

HARDWARE KIT
ITEM #3

CONNECT TO COMPATIBLE
DELL DEVICE

POWER SUPPLY
INPUT CABLE

HARDWARE KIT CONTENTS

VIEW B

ITEM # ITEM FINISH QTY
1 MACHINE SCREW, PAN HEAD, #6-32 X 1-1/4" STAINLESS 4
2 SELF-TAPPING SCREW, #6-32 X 1-1/4" PAN HEAD, TAPTITE BLACK 4
3 WASHER, FLAT WASHER #6 SCREW SIZE, 9/64" ID, 3/8" OD, 0.024"-0.039" THICK STAINLESS 4
4 NUT, #6-32 NYLON INSERT,  5/16" W, 11/64" H CLEAR ZINC 4

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

PRODUCT I.D. DATE

WEIGHT: (LBS)

INSTALLATION INSTRUCTIONS - 
LPS-137

04-07-16

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

PRODUCT I.D. DATE

WEIGHT: (LBS)

LPS-137_INST_4-16

PRODUCT DESCRIPTION

12-32 VOLT LIND POWER SUPPLY WITH 
MOUNTING TABS AND CIGARETTE LIGHTER 
INPUT PLUG FOR DELL  DOCKING STATIONS

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

PRODUCT I.D. DATE

WEIGHT: (LBS)

PRODUCT NAME

REV. DATE

DRAWING NUMBER:

LPS-137

INSTALLATION INSTRUCTIONS:
Panel Mounting Directions

1.  Drill four 9/64 thru holes into sheet metal mounting surface using the 
Mounting Hole Pattern as reference (see View A).

2.  Once thru holes are drilled, position the Power Supply by lining up tabs 
with thru holes.

3.  Insure that the 4X Flat Washers (Item #3) are positioned as shown in 
View B, during installation.

4.  Install the 4X #6-32 X 1 1/4" Machine Screws (Item #1) through the holes 
on the other side of the mounting surface and attach power supply with 
the 4X #6-32 Lock Nuts (Item #4) and tighten.

5.  Torque nuts to 8 10% in-lbs.

Alternate Mounting Directions

6.  If mounting to surface where the opposite side is not accessible, drill 
four 0.118" - 0.120" diameter mounting holes using the Mounting Hole 
Pattern as reference (see View A).

7.  Once mounting holes are drilled, position the Power Supply by lining 
up tabs with mounting holes.

8.  Insure that the 4X Flat Washers (Item #3) are positioned as shown in 
View B, during installation.

9.  Install the 4X #6-32 X 1-1/4" Thread Forming Screws (Item #2) and Flat 
Washers (Item #3) through the slots of the power supply into the holes on 
the mounting surface.  Torque to 8 10% in-lbs.

10.  Hardware Kit Items #1 & #4 are not required for this method of 
mounting.

NOTE:

1. Once mounted, connect appropriate input/output cables securely to 
power supply, and strain relieve cables to prevent accidental disconnects.

2. Note that green indicator light on power supply will illuminate when all 
connectors have been properly secured. For further information, refer to 
Lind documentation supplied with this product.

WARNING:  ALL HAVIS INC. PRODUCTS ARE DESIGNED WITH SAFETY OF USE AND INSTALLATION IN MIND.  HOWEVER, 
IT IS THE SOLE RESPONSIBILITY OF THE OWNER/OPERATOR OF A VEHICLE USING HAVIS INC. MOUNTING AND 
DOCKING EQUIPMENT, TO INSURE THAT THE EQUIPMENT IS INSTALLED SO THAT IT WILL NOT INTERFERE WITH VEHICLE 
OPERATION, INTERFERE WITH SAFETY DEVICES, OBSTRUCT VIEW OF DRIVING CONDITIONS, OR IN ANY WAY 
DEGRADE OCCUPANT SAFETY.  IMPROPER INSTALLATION CAN CAUSE SERIOUS INJURY IN THE EVENT OF AN 
ACCIDENT.  INSTALLATION SHOULD ONLY BE PERFORMED BY QUALIFIED PROFESSIONALS.  COMPUTERS AND 
MOTION DEVICES MUST BE MOVED TO AND STOWED/SECURED IN THEIR SAFE DRIVING POSITIONS BEFORE 
OPERATING VEHICLE.

1.45

WWW.HAVIS.COM
1-800-524-9900

F-730-019 REV A


	Sheet1
	Drawing View3
	Drawing View4


